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Yo aiclt a2

Level-1 Posts CEN-02/2018

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q1 Select the option that represents the correct lateral mirror image of: PEN

PEN nan

bEM a4

Ans 2<'1.

X
0w wg

Q2 ST ot sar s ke 0 & ol H Y UD, «=2 Bl

379 A BT
Ane C 1. 90 = D

N2 =12
o 3¢ = 22
Xax=-12
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* el § A B Y T T &1 Mecwy =W 87

0/

A B X D

@ © ®) ©
= -y & e

Ans X1 D
X2B
X3 A
vi+C

¥ Fofifad § Q@ o1 I Todl RIS G 3 b 5P 87
A o1 Nm2ikg?

X 2. Nm/kg

X 3. Nkg2/m?2

X 4 sm2fkg?

Q5 frpfafad # @ 5y ol &1 9y 2017 # SN &1 AP g Faffaa far m
K0 argl
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X 2 e e
v 5 g e
X 4 fQder argr

* Redl ¥ Y BF U U RE &1 Reew gew 22

/\

X
>0 0o

Q7 gfe EAT 1 7322 & ©9 # forar ol €, f URN & g &is &1 g
Ans X 1. 222016
X 2232015
X 3232116
v 4 232016
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¥ e T Uy R STF 91C & o HUAl Bl T I
3ol TA SR WA & o TG T 8hI?
HYF:
1. 7 31 15 99 &I 8
2. JgHd WA U 3 9y Bel g

D T HUT T T IR o7 I T&H 82
e XK e YA 1 GEH

V2 HYT 1 3R 2 UH 91y ¥ ©

X3 HYT 1 AR 2 TH 91y G&H el §

X o 3Hell HUT 2 TEH ©

Q9 ot el WA @R o aIferd Held & DY & SR Heayul bid A
Ans 1. 3[hal

' 2 goTgt

X S

X+ SRR
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% B 9 3 enE FuliiEd & 99 SEY $) e Sl 22
INGER
B)ER

C) TH®R

EENOIO]C)

©

(4.

e H e o g L uwa‘s%
ms o
X2 4
Ks 3
v G

t
ml"

Q1w TSH! Bl 400 km B g $I 5 U H T BT g1 39 $S AT 85 km/hr BT 0 T AR I¥
2 gy 55 km/hr @1 T T TN | IF offt TR | A R 9@ T

e X4 b 15 fiFe
X2 4 4¢ 35 fiC
X3 4 4e 25 e
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V44 e 10 fiFe

Q; U dWR & 5ffld &Xd g Wi Hedl ¢ b 98 W §¢ &l Hi &) 98 ¢l TR & AR & 6 § &
Y g7

ans of 1 TR
« 2 gl
X3 ol
X4 AR

041 The region of high density of particles in the medium during propagation of sound:

Ans X' 1. Resonation
/< 2. oscillation
/< 3. Rarefraction

+ 4 compression

051 11 fideR 2023 & M 5:58 Tof T B 13 AdR 2024 S UM 5:49 T d & 3@ B GHY B

e K1 367 &7 9 fime
X 2 368 faT 9 fame
V'3 367 &1 23 °e 51 fiFe
X+ 366 fad 23 4 51 e
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% Fofafed & § $9 @ ona gaR U § IO Tl 8T 82
e -

2 BISSlaalReD 3R

3. didedh o

4 IR AT

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

S AR < S vl Bt gear F eATar ug g En?

E2.112,M72,
Ans of 1. Q432

X 2 Q434

< 3 R432

X 4 R434

% 306, 204 3R 136 &I HeTH YUY FId B

Ans X117
v2 34
X 3 51
X 4 68
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Q§1 % ¥ $I5-9g-a 7 T oI fEee B G Hiftid BT T A0 B WG Bl LOIAT B

Ans 11208
X 2 1207
v': 1206
< 4 1205

Q2 ABC TH TSI T g, FoeT S0 A TOSI 21 & 3T USRI By &1 W@ S & e 5y
0 oo &1 wHigHISA S @ eawadar 82

ans X 1. AB
X2 CA
X 3. a,,fglr ;ﬁ
v 4 BC

Q1~2 8% WTIROT AT =0T 7 &7 ¥ F1$ T 3 99 3 A F T 819 & e &1 7 TR ey o2

Ans X 1. Z 675
v 2 7 650
< 3.2 700
X 4 2 276
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%% 19 BRadl 2018 B THIR 1 19 T 2019 B B 1 &7 g2
Ans XT gﬂaﬁ

X2 IR

v+ IR

< 4 A1edR

Qéz If& T BN 2000 J HAl BT IUIF B & AR THBI IME 500 J &, A BN BT ol gl

Ans - X 1. 30%
v 2 25%
X 3. 50%
X 4 40%

Vol 2L =_.02% deE2

1-6¢c
Ans X 1.0.075
X208
<305
v+ 0.75

Y 9 ceRieT YA B SFTAT Ug 4 €I

9A, 7B, 9D, 11G, ?

Ans

(& Teachingninia.in

Page (9)



v 1 13K
X 214G
X 310G
X4 11K

Qéz Germ cells containing the stored food for embryo is called:
Ans 1. isogamete

/< 2. Male gamete

+ 3. Female gamete

/X 4. zoogamete

Q.2 HigioH, vt @ 11 of BleT 21 UGg i Ale YRl oo & o # 1.2 T el wwd e @t
7 qdum oy feart @2

" o140 T
X2 38 gy
X3 43 99
X4 42 9§

Q2 A 3y B fonelr T ey w1 1 36 fom & T@ < mee €1 Afg A e e w Al 3w e
8 i o wmr o U N 9% I B & T Gea T ST ¥, $E SR AR A G0 EE A 114
& wor &1 ar A, S gt F 3T gET & T e W0 FE U A & Reae R w1 wHg wRET?

Ans x1- 48
< 2 40

(& Teachingninia.in

Page (10)



X3 45
v 42

'y WA gy § gl o9 are 2rrg 2
Ans \,16_[5@?[

X 2 giferH
X 3 ORI
X o HiergH

3 fpfifed § ¥ 59 eR F UeE O off¥e Bty St Ik Sid 82
Ans J-Ianﬁla;

X2 3l

X 2 fgaus

X 4 OOl

Q3 FEReET & I aEA % IRUTEERY TEfef@d & ¥ F aed @er 82
Ans of 1. COp+H20

X 2 CO+H,0

< 3. CO+OH

X 4. CO»+OH
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Q.3 Udug & Heus I 94 ddigy, REel 2017 $ egy ol g § volfte uyae dial v
2 o T A % A R e T

e K fao are
X2 ¥ AR
v o fao RRR =Wl
K 4 faog U

% T o1 U§! ¥ 98 Uy ? o 7<iF @ ¥ 2
e X0 e s
v 2 Uiy

% SIS o ffafed & 9 feu 3w & apufy @2
s of 1 UL,

X2 =g

?(3;5m

X4 g,
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% Fofafed § 9 $19 91 T dd T 2
ans o1l

X2 FR

X5 it

X 4 et

06-3 g3 el peHm™t ¥ DIP &l KPw Rl ol 8, df 38 dev™ & swinv &I 69 TR ¥ faar s

ans X1 ZPDT
X 2 ZTDP
X 3 PTZD
v 4+ ZDPT

Q.3 :pefs fAgH! @R THE SHF § o™ S a9 WTe-20 © 99 U Afgdg #efiy e, e
7 refyE e IrEEE fHan g

Ans x 1 Tm
X2 9.
X 3 wre-a faud
v Feréey gfean
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by foy-eng & foq giar B
Ans ?‘U- ﬁ

v 2 gl

X3 diqd

p Qﬂﬂ

% frerw faeat_ ¥ frefia fean o 2
e o e

72 foRfEH

22 ggom

v &

Qé4 TS s § MEAK &I 135111 forar irar &, S dis & OAK & %Y fomar Smerm?

Ans X1.13111
<2 16111
vz 15111
X 417111
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01-4 28 HITH 2017 B BBl & Hee 0 CISqd ¥ T Bl gUH BIGT U-17 &y O e ol

Ans V_I_Q,_lag
X2
X 3 ol
X+ i

Q4 frgfifed # 3 B W HRAT e, SR A BRI Tl F AT W SR {2
Ans “1. w

2 e

X3 TRElld SR

X4..—.ﬂm'[

Q.4
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Which of the following statements is WRONG?

All chordates ;
Ans  of 1. are diploblastic

< 2. are coelomate
/< 3. have a dorsal nerve cord
/< 4 have a notochord

%4 30+(20-15+3x%x8)="?
Ans ?(T 2
X223

% 25°C W gal # @i @I il gl
Ans X 1. 300 mis

X 2 360 m/s

X 3 330 m/s

v 4 346 m/s

S digt # waeE % URagd & forg ITRer Bl
e K SfTaRiIoA
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X2 grf
v o IS
X+ g

%' wfgar fhed Biead 2018 & 9F Tl &t 4iF &7 87
XK g B a

X 2 o/l 3R o &l

v 3 gl Aigae

X 4 Aqa dqer

°é4 In Mendeleevs® periodic table, the horizontal rows are called:
Ans X 1. Units
/< 2. Groups

X 3. Classes
v 4 Periods

°65 @ FEet # F W amRE TET TEREE & AR 2017-9r AeEnh R & #7

Ans x-]_ g&aAT
V2w R
X3 qFAIR
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Q.5 g iR Safe & UM o S ¥ IAET TEAT BT M 7:9 o SaEfe Had iR 39 & e bt Bt
1 S &1 o 7:15 o1 QR SR Shaa & U Suasy Sl 9 TR B SR S

Ans X 1. B:7
X223
v 3 5:3
X4 75

% R < Ul B e | SATAT Ug.adn eI

21,9L,160,
Ans X1 22R

v 2 23R

X3 235

# 4 20R

Q.5 Which of the following is not based on the practical applications of heating effect of electricity?
3

Ans 1. Electric kettle
& 2. Electric flat iron
' 3 Electric bell
/< 4 Electric toaster
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Q.5 45 cm 1 o= AW TH T F TdS FF F 1 om F G A MY FE S §| FH THR T 37THS
4 & offer 3 Avws 7= =4

°* X 1.5J2 em: 18.25 cm?

X2 (5+4y2) cm; 18.25 cm?
V3 (10+4v2) com; 18.25 cm?
X 416 cm, 16 cm?

Q5 @l & UH UE F, 10 $P WG W §,15 U UE R §, 20 [P WE S0 <) 2 T dFl @
5 aﬁ?gﬂﬁ@rmﬁﬁsmzﬁwaﬂ%%\Wﬁﬁmﬁaﬁmwaﬂmaﬂﬁ%‘v

Ans 1 40
2. 37
3. 25
4. 45

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

065 3, 2017 # REMR # 39T oo R WO Fow Sfow arer dsfies Rerdr &1 A= Fw 3
X e foreet
X 2 9T DAY
v T ot
K 4 qrETeel FRAT
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Y gH w9 ¥ R $ SR, favs fog Ry @ g &2

Ans vH,H_Rg:':E"
X 2 3ARM
X3 5d s
X+ faqs

°é5 i AU U vy AR I8 SIG F &l B BT AT I
g, 3 TAF ABR & Ul & Y SOR S gl dF 3 faer o fHaal aur 38T Uad 82
T
1.7 U BT oMM 1 o g §
2. Ugal iR gURT el 8 ¢ wisfd dRRT P §
S T P W FT W o & U gul 22

X BT 1 3R 2 TH WY Al e §
X 2 3pd HYT 2 JaE. 8
V5 e HUT 1 1A
Xaogal ST 1 91 9 2 79| ©

S 2 & S gmardt anrel gEm @ enfe

2,14,98,
Ans 1. 548
X< 2 588
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V'3 686
X 4 666

Q66 2 A T yR1 B1 5 @ & UiaRY H @ Wl 81 URkRIY ¥ U fiee W yaifed 8 i oew &t AR
GRlE

Ans X 1.10 C
X260 C
X3 2C
v 4120 C

01-6 affid, 2017 ¥ 19 39 & Eifod gud. fivd Hue AERg § 4R F fFad geF offd 42

Ans X1, 12
v'2 16
X315
X 417

0 fa fouw MU Uy @R IGP 915 F o HUAT BT HHTT B3

% 09 ¥ 3 9R 8 Wi &1 YR 99H 8l 3961 $d IoH fhal 82
DY

1.9k & Toiq & U diUTs 40 gm ©
2GR TN 68 §F 9l Sfe-3eRT af 9 R 8
D T HYUT U BT IR o & g gaiw g2
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e XK a2 i ©
X2 ®HYq 1 3R 2 U Iy Ugiw Tl
Vs 3%hd BT 1 WOiE §
X g Gt 1 oar 2 Al 8

UL T gy qUT T GRNY & MdRS BVl B G HT U S
Ans X 1. 7:12

V2 6:7

<3 45

X4 2:3

Q.6 =g uy & U HYF R IUF 916 ol P U T 2 Tw Fufg O § B W 0% FF & dey
4w R

U

WA o W B UH U g R ARN Pl SHH [ Gall & SFT d1eu?
GLE

I. 8, Goll ¥ ARG § e HTAET dr] g

II. 7&T, e fafaearqul ¢ # &A U Bo BrL Pl AN T8l B Wad §

R 9 | & g3 ©
X2 | 3R || GHl & db T §
X R 0 1| & 9 §
Ko qar| R AN IR e
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Y @ T afere § S I I i @2

B

C

D

1696 1426

1726

1326

ADBF

AGBF

ACBF

Ans 4’1_

O WO >

0661kgaﬂqaa§ﬁ10ma%“ﬁéa$mm%lwaﬁwﬁmwm Bl

(@ ol g = 9.8 m/s2 ©)

Ans x1_

08 J

=88 d
- )
-98 J

Q.6 fgfafad § ¥ @ qgeMue & d2.00. 2 e af 2016 § 4Rd R & SRM YRd & wuHES R

7 A ¥ gueE @ O

X Ah g
X 2 GHY3HA Hebl
v 3 g S
X+ 3 ey
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Qéﬁ The elements having similar chemical properties but different atomic masses are called:

Ans 1. jsomers
2. Halogens
3. Isotopes

4. Tsobars

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

W (143-(9 -2+ R+BX (5 XD} = ?
Ans (1. 2

A2 -8
X3 -5
X417

U Fefifed 7 ¥ oF @ Ao sl s P § Meedn qemar aid 82
Ty 3D

DA
fdhey W

A B C D

[ A¢]| G4 2| A

AV

Ans ?(1~ B
X2 A
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vs3D
XaC

U gf we P w AR BT+ HAT O, A (5<7)+2 BT G 1 G2

Ans X170
X 2 65
v 37
X 4 35

U7 R el g R Y e #v F RIE W DLW AP U S?

#[ 14

QY

I+

?

2
+

X
Ow>»O0
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Y fuifEa § 3 o9 9 o i 22

A. Beglol
B. &IS

c. 1%

D. UHIRGR
Ans X1
X2 A
X3 B
v 4D

Q.7 wy 3R fiel = 9 96R & fw Fead 81 a9 g g fawr 9,500 HieX # g &wd € ok i
4 R geaw 200 Hiex T F A€ I W A 2 I R B R § el R 22

e o
X 2 FTR-ulEm
A 3. gfgoraim
v+ Ti&urgd

057 % 1,600 Fr T o 10 Tu7 F Brgam TruReT a1 9ToT g9 TfE AT & 27 7.25% aiees &l

Ans of 1. % 1160
X2 % 1180
X3 % 1220
X 4 T 1240
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% WRRABRH T, i iR & RO A1 T 2

Ans JT ﬁ’lﬁjﬁ
X 2 gl

X< Sl
X« T

Q.7 uw € oHify ad O e @ S Id HEe au J o U1 99 §9 F adal &1 g B an
7 78 af 21 TR SR AN o B omg 51 A e a9 2

Ans X 1. 69
X2 72
X3 63
v 66

Q7 23,680 W 4% dINe WYRY A F &R 2.5 A ¥ B G WG SN2

ans X1 3 276
X2392
v': 7 368
X4 7184
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Q7 275+ [{63 + (—35+ —5) PI—1+(—6)}] = ?
Ans Xl 8

068 If work has a positive value, the body on which work has been done would:
Ans X 1. Lose energy

/< 2. Remain constant
/< 3. Have a zero value

+ 4 Gain energy

Q.8 15 37 20 e P G T TH FOABN GY W 4.0 mis F GHF A T G W R TP GRT TR
1 T@= @ a9 ¥ i fmn T @ Sl

Ans of 110 TS
X25s

X3 5ms
X410 s

Qés IS W@w YR B (SBM) & &8 189Sy & U ¥ alfigs & &9 oifaaa & Fged fear m
@2

e X0 e
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X2 g g
v 2 SHE PHR
X 4 A g

Qéswﬁ,@ﬂﬁ?mﬁmmmmw—éaﬁw H$ S o

Ans  of 11954
X 2 1950
< 31948
X< 4 1947

Q.8 fig 7 ¥ forur fawl AfeeN oM (DCw) GRT e TR 91ell GR¥FR Aigell Tdiade URHR-2017 WId
4 fFr & DRm T e dier EEedl ok We g W 2

e X ST eaeHT
X 2 Fi b
X3 YT fFHE
v ¢ farelt Hidt

Q.8
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A gt 75 oAl &1 g § 20 & M R BF 9l [dhed 3ugdd gRI?

RAR®R RRY | R4A® |?
A B C D
RrR4 | RPR | RRP | RPE®
Ans XT D
v2C
X3 B
XA
Q.8 anﬁra;ﬂwmsﬁwuﬁs‘f?ﬁﬁw%@iﬁﬁﬁrmﬁaaﬁ%mam;?im

6 77 weT oo 1 TE

"X HRER TEMHE e
X 2 g fawy s
v 3 H.uH. o2

X 4 AR AgE

Q.8 wrE foelt o @I 17 T & I THaT €, 99 {45 U 51 5T H Y UPhal T WS Ued foT B
7 gxar g, fig oI T &M @al @ AR B & THYG e 9% I8 9 S W6l 31 B F T B
H e fhaw oA @

Ans X 1.245
X2 255
X3 26
v+ 25
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Q.8 Four numbers, when arranged in ascending order, are w. x . v and z. The average of the smallest three numbers is
8 255 while the average of the largest three was 29.5. What is the range of the data?

Ans Xl 10
v 212
X 313
X 411

Q8 g FF iR el # TFYdS URRT SR S9F MYR W 7 FINT & $9 T F=p8 o9 &
9 FheTd U A o Hd B

T
wiE &I Ul W &1 9 ¥ uita Sl 8
frysp:

. Hi® TP HADR gl

Il THH B ITF & F Ted I 8l

R AM A N TR ¢
X 2 $Had 6y || AT ©
Vs Haq FpY | IR0 BT §
X+ gH fpY TR XA ©

Q9 Us 435 m @ AR U Ydd 13 Gl Aikel &1 uRfhe Rufa A s &1 390 0 600 U1l 9 <R
0 3 Ry & O Yar & 39 woR ded 2 R oua oW AR ¥ o) &1 o S0 30° & Wi 2
ae ofudl Uit Rufd 9§ ol qu =ell 18 die

Ans x1?vf§ _‘Cﬂa
X 2 29 Hiex
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X 3 ?ﬁ Hiex
v 4 2943 HicR

°1~9 wEE 2018 & FER SN F Hfade T e w6 & W B FeE 57 IR
e XK. AETRe e

v 2 FA TF FO1, FeaclaFd U9 e Sigiferhr

X 3 FETERy UF 9iER &ednoT

X 4 TEESA U FaF 99T FESIT F

Q0 a 2018 TF P TN & SFTER HRAT RE 5 (SBY) /A NLA. P 2
. FeT BIR

2 H41. A

3. gfold ued

4 3ReYdl HeTa™

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Qé9 The fraction from the ones listed below that will not lead to a recurring decimal is:

Ans 20
1. —
X =
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v: 2

56
15
" 56

X4

56

049 26 OFEY, 2018 & U fGay GARIE H fha ASEAN (3RUM) TP & =1 5= Sffafy 97

Ans o 110
X220
X311
x4 8

Q.9 qaR o W Bl oy § 8 9Ff T R B T 30T Tew Irhl [qaTE g U, ol IHR B Y &
S 4 T E B A F 5 [ F R Uil ITBH TET S F AN e 87

1132 o
X2 130 9§
X3 134 9§
X4 135 9§

Q.9
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A & wud 3R 3OS g & T HTURUTHT H HeTwA F
FUA

g % ol & TF Tr wor § B Fww Gfyw wdS & Fow F gy w7 Fev degaw S vt F g
o #l

FTUROM:

I. "fsspar el &7 39T greRe gl

Il erfT & =i Fr 3w 7 SAREt $r 3T F1 FRoT AT 8

frofr o & &7 & aor e & BRE B

S Fararom | AR TS RRa ¥
X 2 Faer uror | & Afka ¥
X 3 Faer arom || & ke §
X4 gt & anome | sk 1 B ¥

Y g H Y s @ g U 27
Ans 1719

X 2 739

v 729

< 4709

Q.9 A solution contains 45 g of common salt in 520 g of water. Calculate the concentration in terms of mass by mass
8 percentage of the solution.

Ans X 1. 8.1%
X 2 6.96%
v 3 7.96%
X 4 8.86%
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9 P B ok IUS 1T T Y B @1 e By
PY:

Ao

|. HE] Bl BleaR fBU Wl o o o3 UaxA el a1

II. WeRH ¥ wEfa e @

T $ P oH 9 (ThY THUT FY T B2 B IR0 Sl 82

o Baa ey || € SRR SRl §
K2 71 o Fsey | R A1 g ISRy |1 SR Rl §
X o gl € Y | SR 11 € 3R R ©
X 4 Had THY | g R0 IRl §

WH 3§ DIRG I T S BT YeRH w31 § R 39 Uiwd ar gl

% T fRT MY Ul ok s B e B
BT

. T Bl Toig 2

« W foafemf 3ic g
BT

1. 94! faaferml geilg €

2. 4t Fie foafert

SWid Fspyf ¥ U B Bl $ Y Tal 82
e g e PR 1 T ¥ oET 98 2

X 2 gt g Fshy Sl & orEy gl el @
X o gFl ey BUl T TE ©
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X+ Had Py 2 HYEl & FT T
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